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/HW $ � 1� WKHQ $ LV FDOOHG DQ DV\PSWRWLF EDVLV RI RUGHU � LI IRU DOO VXlFLHQWO\
ODUJH Q � 1 WKHUH DUH D� D� � $ VXFK WKDW Q  D�D�� /HW 6$�Q�  ID � $M QrD �
$� Q � �DJ GHQRWH WKH VROXWLRQ VHW RI Q� %\ WKH (UGR̀V�5gHQ\L SUREDELOLVWLF
PHWKRG >VHH +�+DOEHUVWDP DQG .�)�5RWK� 6HTXHQFHV ������ =EO ����������� S�
��� h�@ LW LV VKRZQ WKDW IRU DOPRVW DOO $ LQ WKH VSDFH } RI DOO VWULFWO\ LQFUHDVLQJ
VHTXHQFHV RI SRVLWLYH LQWHJHUV WKH FDUGLQDOLW\ RI 6$�P� ? 6$�Q� LV ERXQGHG IRU
DOO P � Q� 7KH ERXQG GHSHQGV RQ WKH FKRVHQ SUREDELOLW\ PHDVXUH RQ } RQO\�
7KLV UHVXOW LV XVHIXO WR SURRI WKH H[LVWHQFH RI PLQLPDO DV\PSWRWLF EDVHV $ RI
RUGHU �� ZKLFK PHDQV $ KDV QR SURSHU VXEVHW EHLQJ DQ DV\PSWRWLF EDVLV RI
RUGHU � LWVHOI� ,W LV SURYHG WKDW $ � 1 FRQWDLQV D PLQLPDO DV\PSWRWLF EDVLV RI
RUGHU � LI M6$�P�?6$�Q�M LV ERXQGHG IRU DOO P � Q DQG OLPQ�� M6$�Q�M  ��
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